
 

 

 

𝐶𝑡+1
𝐶𝑡

=
𝛽(1 + 𝑖𝑡

𝑑)

1 + 𝜋𝑡+1
 

 

 

(1) 

ψ

(1 − ψ)

𝐶𝑡
1 − 𝐻𝑡

= 𝑤𝑡 

 

 

(2) 

𝐶𝑡 =
𝑏𝑡−1
1 + 𝜋𝑡

+𝑚𝑡 + 𝑤𝑡𝐻𝑡 

 

 

(3) 

𝑑𝑡
ℎ =

𝑑𝑡−1
ℎ

1 + 𝜋𝑡
(1 + 𝑖𝑡−1

𝑑 ) − 𝑚𝑡 

 

 

 

(4) 

𝑏𝑡 = 𝜋𝑡
𝑓
+ 𝜋𝑡

𝑏 + 𝜋𝑡
𝑐 + 𝑥𝑡 (5) 

 

 

𝑌𝑗.𝑡 = 𝐴𝑡𝜔𝑗.𝑡
𝑌 𝐾𝑗.𝑡−1

𝜃𝐻𝑗.𝑡
𝜉𝑆𝑗.𝑡−1

1−𝜃−𝜉 

 
 

(6) 

𝑑𝑒𝑏𝑡𝑡
𝑓
= (1 + 𝑖𝑡−1

𝑙 )
𝑑𝑒𝑏𝑡𝑡−1

𝑓

1 + 𝜋𝑡
−𝛷𝑑(1 + 𝑖𝑡−1

𝑙 )
𝑑𝑒𝑏𝑡𝑡−1

𝑓

1 + 𝜋𝑡
(1 − 𝛷𝑡) − (1 + 𝑖𝑡−1

𝑙 )
𝑑𝑒𝑏𝑡𝑡−1

𝑓

1 + 𝜋𝑡
𝛷𝑡
𝐾 + 𝑙𝑡 

 
 

(7) 

𝜋𝑡
𝑓
= 𝑌𝑡

𝑁𝐷 − (1 − 𝛷𝑡)[𝑆𝑡(1 + 𝜒) + 𝑤𝑡𝐻𝑡] − (1 − 𝛷𝑡)(1 + 𝑖𝑡−1
𝑙 )

𝛷𝑑𝑑𝑒𝑏𝑡𝑡−1
𝑓

𝟏 + 𝜋𝑡
 

 

(8) 

𝛷𝑡 =
𝝎̃𝒕

𝒀 − (1 − 𝑞𝑌)

2𝑞𝑌
 

 

(9) 

𝝎̃𝒕
𝒀 =

(1 + 𝑖𝑡−1
𝑙 )

𝛷𝑑𝑑𝑒𝑏𝑡𝑡−1
𝑓

1 + 𝜋𝑡
+ 𝑆𝑡 + 𝑤𝑡𝐻𝑡

𝑌𝑡
 

 
 

(10) 

𝛷𝑡
𝐾 =

𝝎̃𝒕
𝑲 − (1 − 𝑞𝐾)

2𝑞𝐾
 

 

(11) 



𝜔̃𝑡
𝐾 =

(1 + 𝑖𝑡−1
𝑙 )

𝑑𝑒𝑏𝑡𝑡−1
𝑓

1 + 𝜋𝑡
− 𝑌𝑡 + 𝑆𝑡 + 𝑤𝑡𝐻𝑡

𝑝𝑡
𝐾(1 − 𝛿)𝐾𝑡−1

 

 

(12) 

𝑌𝑡
𝑁𝐷 = 𝒀𝒕[(1 + 𝑞𝛷𝑡)(1 − 𝛷𝑡)] 

 
 
FOC H 

 

(13) 

𝜉𝑌𝑡
𝑁𝐷 − (1 − 𝛷𝑡)𝑤𝑡𝐻𝑡 − 𝜇𝑡(1 − 𝜌)𝜉𝑌𝑡

𝑁𝐷 + 𝜇𝑡(1 − 𝜌)(1 − 𝛷𝑡)𝑤𝑡𝐻𝑡 − 𝜇𝑡𝜉𝑌𝑡 + 𝜇𝑡𝑤𝑡𝐻𝑡

+ 𝜇𝑡𝜉𝑌𝑡
𝑁𝐷 − 𝜇𝑡𝑤𝑡𝐻𝑡(1 − 𝛷𝑡) + 𝜇𝑡𝜉𝑌𝑡𝛷𝑡

𝐾 − 𝜇𝑡𝑤𝑡𝐻𝑡𝛷𝑡
𝐾 = 0 

 
 
FOC DEBT 
 

(14) 

−(𝟏 + 𝒊𝒕
𝒍)𝛷𝑑(1 − 𝛷𝑡+1) + 𝜇𝑡+1(1 − 𝜒)(𝟏 + 𝒊𝒕

𝒍)𝛷𝑑(1 − 𝛷𝑡+1) − 𝜇𝑡+1(𝟏 + 𝒊𝒕
𝒍)

+ 𝜇𝑡+1𝜱𝒅(𝟏 + 𝒊𝒕
𝒍)(1 − 𝛷𝑡+1) + 𝜇𝑡+1(𝟏 + 𝒊𝒕

𝒍)𝛷𝑡+1
𝐾 = 0 

 
FOC K 

(15) 

𝛽

𝑐𝑡+1
𝜃𝑌𝑡+1

𝑁𝐷 −
𝛽

𝑐𝑡+1
𝜇𝑡+1(1 − 𝜌)𝜃𝑌𝑡+1

𝑁𝐷 − 𝜇𝑡+1
𝛽

𝑐𝑡+1
𝜃𝑌𝑡+1 +

𝛽

𝑐𝑡+1
𝜇𝑡+1𝜃𝑌𝑡+1

𝑁𝐷

+ 𝜇𝑡+1
𝛽

𝑐𝑡+1
𝜃𝑌𝑡+1𝛷𝑡+1

𝐾 −
1

𝑐𝑡
𝜇𝑡

𝜗𝒑𝒕
𝑲𝐾𝑡

(𝟏 + 𝒊𝒕
𝒍)

+
𝛽

𝑐𝑡+1
𝜇𝑡+1

𝜗𝒑𝒕+𝟏
𝑲 𝐾𝑡

(𝟏 + 𝒊𝒕+𝟏
𝒍 )

(1 − 𝛿)(1 − [(𝑞𝐾𝛷𝑡+1
𝐾 + 1 − 𝑞𝐾)𝛷𝑡+1

𝐾 ]) +
1

𝑐𝑡
𝜇𝑡𝒑𝒕

𝑲𝐾𝑡

= 0 
 
 
 
 

(16) 

𝛽

𝑐𝑡+1
(1 − 𝜃 − 𝜉)𝑌𝑡+1

𝑁𝐷 −
𝑆𝑡
𝑐𝑡
(1 − 𝛷𝑡)(1 + 𝜒) −

𝛽

𝑐𝑡+1
𝜇𝑡+1(1 − 𝜌)(1 − 𝜃 − 𝜉)𝑌𝑡+1

𝑁𝐷

+
𝑆𝑡
𝑐𝑡
𝜇𝑡(1 − 𝜌)(1 − 𝛷𝑡)(1 + 𝜒) − 𝜇𝑡+1

𝛽

𝑐𝑡+1
(1 − 𝜃 − 𝜉)𝑌𝑡+1 +

𝑆𝑡
𝑐𝑡
𝜇𝑡(1 + 𝜒)

+ 𝜇𝑡+1
𝛽

𝑐𝑡+1
(1 − 𝜃 − 𝜉)𝑌𝑡+1

𝑁𝐷 −
𝑆𝑡
𝑐𝑡
𝜇𝑡(1 − 𝛷𝑡)(1 + 𝜒)

+ 𝜇𝑡+1
𝛽

𝑐𝑡+1
𝛷𝑡+1
𝐾 (1 − 𝜃 − 𝜉)𝑌𝑡+1 −

𝑆𝑡
𝑐𝑡
𝛷𝑡
𝐾𝜇𝑡(1 + 𝜒) = 0 

 
 
 
 

(17) 



𝑙𝑡(1 + 𝑖𝑡
𝑙) = 𝜗𝑝𝑡

𝐾[𝐾𝑡 − (1 − 𝛿)𝐾𝑡−1)(1 − (𝑞𝐾𝛷𝑡
𝐾 + 1 − 𝑞𝐾)𝛷𝑡

𝐾)] 

 
 

(18) 

𝑝𝑡
𝐾𝐾𝑡 = 𝑛𝑡

𝑓
+ 𝑑𝑒𝑏𝑡𝑡

𝑓
 

 
 

(19) 

𝑛𝑡
𝑓
= (1 − 𝛷𝑡)(1 − 𝜒)𝜋𝑡

𝑓
+ 𝑌𝑡 − 𝑆𝑡(1 + 𝜒) − 𝑤𝑡𝐻𝑡 − 𝑌𝑡

𝑁𝐷 + (1 − 𝛷𝑡)𝑆𝑡(1 + 𝜒) + (1 − 𝛷𝑡)𝑤𝑡𝐻𝑡

− 𝛷𝑡
𝐾𝑌𝑡 + 𝛷𝑡

𝐾𝑆𝑡(1 + 𝜒) + 𝛷𝑡
𝐾𝑤𝑡𝐻𝑡 

 
 

(20) 

 

𝝅𝒕
𝒄 = 𝑝𝑡

𝐾(𝐾𝑡 − (1 − 𝛿)𝐾𝑡−1) − 𝐼𝑡 
 

(21) 

𝐾𝑡 = (1 − 𝛿)𝐾𝑡−1 + 𝐼𝑡 −
𝜅

2
(
𝐼𝑡
𝐼𝑡−1

− 1)2𝐼𝑡 

 

(22) 

𝑝𝑡
𝐾 = 1 + 𝑝𝑡

𝐾
𝐼𝑡
𝐼𝑡−1

𝜅 (
𝐼𝑡
𝐼𝑡−1

− 1) − 𝛽
𝜆𝑡+1
𝜆𝑡

𝑝𝑡+1
𝐾 (

𝐼𝑡+1
𝐼𝑡

)
2

𝜅 (
𝐼𝑡+1
𝐼𝑡

− 1) 
(23) 

  
 

𝑑𝑡
ℎ + 𝑏𝑡 + 𝑏𝑑𝑡 = 𝑟𝑡 + 𝑧𝑡 + 𝑑𝑒𝑏𝑡𝑡

𝑓
 

 

(24) 

𝑟𝑡 =
𝑟𝑡−1
1 + 𝜋𝑡

−
𝑏𝑑𝑡−1
1 + 𝜋𝑡

(1 + 𝑖𝑡−1
𝑏𝑑 ) − 𝑖𝑡−1

𝑏𝑑
𝑧𝑡−1

(1 + 𝜋𝑡)
+ 𝑏𝑑𝑡 + 𝑥𝑡 

 

(25) 

𝑏𝑑𝑡 = (𝑟𝑟𝐷(𝑏𝑡 + 𝑑𝑡
ℎ) − [

𝑟𝑡−1
(1 + 𝜋𝑡)

−
𝑏𝑑𝑡−1

(1 + 𝜋𝑡)
(1 + 𝑖𝑡−1

𝑏𝑑 ) − 𝑖𝑡−1
𝑏𝑑

𝑧𝑡−1
(1 + 𝜋𝑡)

+ 𝑥𝑡] 

 

(26) 

𝜋𝑡
𝑏 =

𝑖𝑡−1
𝑙 𝑑𝑒𝑏𝑡𝑡−1

𝑓

1 + 𝜋𝑡
−
𝑖𝑡−1
𝑑 𝑑𝑡−1
1 + 𝜋𝑡

−
𝑖𝑡−1
𝑏𝑑 𝑏𝑑𝑡−1
1 + 𝜋𝑡

−
𝑧𝑡−1(1 + 𝑖𝑡−1

𝑏𝑑 )

1 + 𝜋𝑡
 

 

(27) 

𝑧𝑡 = (1 + 𝑖𝑡−1
𝑙 )

𝑑𝑒𝑏𝑡𝑡−1
𝑓

1 + 𝜋𝑡
𝛷𝑡
𝐾 − (1 − 𝛿)𝑞𝑡

𝐾𝐾𝑡−1(𝑞
𝐾𝛷𝑡

𝐾 + 1 − 𝑞𝐾)𝛷𝑡
𝐾

− [𝛷𝑡
𝐾𝑌𝑡 − 𝛷𝑡

𝐾𝑆𝑡(1 + 𝜒) − 𝛷𝑡
𝐾𝑤𝑡𝐻𝑡] 

 

(28) 

 

𝑟𝑡 =
(1 + 𝜏𝑡)

(1 + 𝜋𝑡)
𝑟𝑡−1 

 

(29) 

 



𝜒𝑆𝑡 = 𝜋𝑡
𝑠 

 

(30) 

 

Market Clearing: 

𝐶𝑡 + 𝐼𝑡 + 𝑆𝑡 = 𝑌𝑡 (31) 

 

 

Shocks: 

 

𝐴̂𝒕 = 𝜌𝑎𝐴̂𝒕−𝟏 + 𝜀𝑎.𝑡 (32) 

 

 

Additional equations: 

 

 

𝜏̂𝒕 = 𝜌𝜏𝜏̂𝒕−𝟏 + 𝜀𝜏.𝑡 
 

(33) 

𝑖̂𝑡
𝑏𝑑 = 𝜌𝑏𝑑𝑖̂𝑡−1

𝑏𝑑 + 𝜀𝑏𝑑.𝑡 
 

 

(34) 

  

  

  
 


